1.
a) 5.52+2.65
5.52
+ 2.65
8.17
5.52+2.65 = 8.17
Ans: 8.17
b) 4.06+2.94
4.06
+2.94
7.00
4.06+2.94 =7
Ans: 7
c) 8+2.56
8.00
+2.56
10.56
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8+2.56 = 10.56
Ans: 10.56
d) 0.36+21
0.36
+21.00
21.36
0.36+21 =21.36
e) 789+ 2.36
789.00
+ 2.36
791.36
789+ 2.36 = 791.36
Ans: 791.36
f) 0.789+35.9
00.789
+35.900

36.689
0.789+35.9 = 36.689
Ans: 36.689
g) 789.006+459.02
789.006
+459.020

1248.026



789.006+459.02 = 1248.026
Ans: 1248.026
h) 45.44+0.98
45.44
+ 0.98
46.42
45.44+0.98 = 46.42
Ans: 46.42
i) 99.99+10.00
99.99
+10.00
109.99
99.99+10.00 = 109.99
Ans: 109.99
j) 89.203+6.8
89.203
+06.800

96.003
89.203+6.8 = 96.003
Ans: 96.003

2.2)578 b)7 ¢)7.67 d)8.52
h)3.21  i)3.476 ) 263.4094

e) 4.81

f) 8.08

g)7.8






